P MATCH THE WINNING SYMBOLS TO THE SYMBOLS IN EACH LANE. \\= -
l MATCH ALL SIX SYMBOLS IN ANY VERTICAL LANE, WIN PRIZE o
SHOWN FOR THAT LANE ON THE OTHER SIDE OF THE ROAD.
E CHANCES ARE CONSOLIDATED
A WIN WITH: WIN: 1 IN: CHANCES ARE 1 IN:
$3 $3 9.09 $3=9.09
s $5 $5 16.67 $5 = 16.67
$3x2 S6 50.00
E 56 S6 50.00 $6 = 25.00
$3x3 S9 200.00
P $6 + 53 $9 200.00
$9 S9 200.00 $9 = 66.67
o $5x2 S10 133.33
$10 S10 133.33 $10 = 66.67
s $5x3 S15 333.33
(53 x 3) + 56 S15 303.03
III $9 + $6 S15 303.03
$15 S15 333.33 $15=79.37
$10x 2 $20 1,000
"l (s5x2)+510 $20 1,000
(S6x2)+55+93 $20 1,000
l $9+56 + 95 $20 666.67
$20 $20 1,000 $20 = 181.82
E $10x3 $30 1,000
(56 x 2) + 510+ 55+ 93 $30 1,000
[l s10+59+56455 530 1,000
$30 $30 1,000 $30 = 250.00
s $30 + $20 $50 10,000
($10x 2) +$30 $50 10,000
E (520x 2) +$10 $50 10,000
$20 + 512+ 510+ 95+ 93 $50 10,000
P $50 $50 10,000 $50 = 2,000
$20x 3 $60 6,000
o $30+ 512+ 510455+ 93 $60 6,000
$30 + $20 + $10 $60 6,000
s $50 + $10 $60 12,000
$60 $60 12,000 $60 = 1,500
'I' $30x3 $90 6,000
(520 x 2) + $50 $90 6,000
$50 + 520 + 59 + 56 + 55 $90 6,000
P $50 +$30 +$10 $90 6,000
$90 $90 6,000 $90 = 1,200
R s50x2 $100 24,000
(S10x 2) +$50 + $30 $100 24,000
E $50 + $30 + $20 $100 24,000
$90 + $10 $100 24,000
A $100 $100 24,000 $100 = 4,800
$100x 3 $300 24,000
Rl (5100x2)+550+$30+520 $300 24,000
$300 $300 24,000 $300 = 8,000
E $1,000 $1,000 120,000 $1,000 = 120,000
$1,000 x 2 $2,000 120,000

$2,000 $2,000 120,000 $2,000 = 60,000



